= o
N & 0l & AF & E A A
20228 & =04k LBHSIAH M2 S
FAM: HEdsh
Hu: HENE
ol MSSHAMLSMA A (cho &)
L=
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ME&sH 20,131,471 26,002,908 A5,871,437
s 1,200,000
J| 3,806,779
< 980,069
s 14,144,623
H=EXE 1,301,768 1,084,450 267,318
M= ALY ST I & 1,301,768 1,034,450 267,318
DNEZEAESEI H#HelAW3 6,000 6,000 0
307 glz2+ol & 6,000 6,000 0
04 DI2FSHALAIE 2 = 6,000 6,000 0
ONd=Z=-83 &I {2l sl JH = X & 6,000
N8Z2D] 2HE S20U3 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 DIZtHALAIHE E X 8,000 8,000 0
Ongd=Z=+I| elHg =203 HEXA 8,000
DEZ0FE3 &I oF S 3,000 3,000 0
307 2Iz2tol ™ 3,000 3,000 0
04 DIZISHALAIH E X 3,000 3,000 0
ONHE 2083 &I oF2CHE M= XI& 3,000
DEZOFREEEI AL CI0FR? 21 S 6,000 6,000 0
307 2Iz2t0ol A 6,000 6,000 0
04 DI2FHALAISE 2 X 6,000 6,000 0
ODNHEZOIE2AEI At2l210F7 2lEl K
ESDAR! 6,000
DEZHAESEI FHel A3l 4,500 4,500 0
307 2Iztol ™ 4,500 4,500 0
04 DIZISHAAIH E X 4,500 4,500 0
OndzHiPEaAEI F#H AW HEXH 4,500
DEZH HOIEESU3 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 DI2FHALAISE 2 X 5,000 5,000 0
Ond=Z=t AOIEESUa HEXA 5,000
NEZSCEI AU 2Z0H3S 5,000 5,000 0
307 giz2tol & 5,000 5,000 0
04 DI2FSHALAISE 2 X 5,000 5,000 0
ONH2STEHIEU 2ZHE MK 5,000
Nz SNSsw ST ERIEI S 4,000 4,000 0
307 2Iztol ™ 4,000 4,000 0




2N
X ZH -
L= B

el

M. o (BH) - HSAY - BAS il HDS2
04 DI2H3H A} 4,000 4,000 0
ONN8Z ZNSs N SMUHEAEHS A X
& 4,000
S A HW ACHE 5,000 0 5,000
307 212t01 & 5,000 0 5,000
04 DI2b3H AL 5,000 0 5,000
ON8Z=R Sl A 5,000
AEYNSEU3 D 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 DI2HaH At 5,000 5,000 0
OZ<M FEHI X & 5,000
SAEMFUF 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 OI2t3H AL 5,000 5,000 0
ONM=A AR ZIOLE U X & 5,000
=HdEU3 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 QI2tSH AFA 5,000 5,000 0
O&=2H F& Hl X & 5,000
gz2d=3 g3 2O} 16,000 16,000 0
307 212t01 & 16,000 16,000 0
04 QI2FSH AFAF 16,000 16,000 0
onygz=ZA 38 a3 = 16,000
HAH=Ms 2 192,000 0 192,000
307 212t01 & 192,000 0 192,000
04 912t3H A} 192,000 0 192,000
O=HA x| X & 192,000
DIMIEHE oH 60,000 60,000 0
307 QI2t0| ™ 60,000 60,000 0
04 OI2t3H A 60,000 60,000 0
O=Z 2K = X & 60,000
OdsEts 89 280,000 280,000 0
307 QI2t0| ™ 280,000 280,000 0
04 QI2tSH AFA 280,000 280,000 0
O =0l SH XS 280,000
SCoxEH 213,700 213,700 0
307 212t01 & 213,700 213,700 0
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R s R SE=an);
Mo SIS
Chel: AETMASHRA (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 6,000 6,000 0
04 DI2HHALALSE E X 6,000 6,000 0
ONHEZ=FEIZI FEF0U3 H2XA 6,000
FHEZ22H d3=20ssW =2U3E 210,000 210,000 0
307 eIzl & 210,000 210,000 0
04 QIZFHALAIH E = 210,000 210,000 0
OFZMSFZ2E M=20Sstw FEFUSINE XA 210,000
Dt d=2=H U3 9,000 9,000 0
307 21201 A 9,000 9,000 0
04 QIZFHALAIH B = 9,000 9,000 0
ONEZ=tl d=2==ZU3 HzXA 9,000
dgxssd Ad=i3 3,000 3,000 0
307 21201 A 3,000 3,000 0
04 DIZHHALALSE E X 3,000 3,000 0
OZG=SSHAUI 3,000
dIHEHSEd=AUE 90,000 90,000 0
307 glz2tol & 90,000 90,000 0
04 DI2HHALALSE E X 90,000 90,000 0
OF=ZGHAZT =AU M2 K& 90,000
sHEN=zd AES2 10 120,000 120,000 0
307 glz2tol & 120,000 120,000 0
04 QIZFHALAIH B = 120,000 120,000 0
OsHdXEsd AEEC D] Izl K& 120,000
D&M= a8 sl iz 150,000 152,000 A 2,000
< 4,000
[ia 146,000
307 21201 A 150,000 152,000 A 2,000
< 4,000
[ia 146,000
04 DIZHHALALSE E X 150,000 152,000 A 2,000
OundzZH=3 €38 MsUa HEXZ 35,000
= 4,000
e 31,000
OX= MEMS HHELE M 55,000
Od= &M= i+ U2l 60,000
Dzt d=HUAMHS 6,000 6,000 0
307 gl2tol & 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
Ond==tl 8IHLAUS HE XA 6,000




M MsSAEL
M Msd=s
el ARXMAKHN D (el @2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
D82t ERUS 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 DIZHSHAFAIRHE 2 X 5,000 5,000 0
oYzt ERUE HA XA 5,000
DEZ400 BHEQIEHUH S 10,000 6,000 4,000
307 212t01 & 10,000 6,000 4,000
04 QIZHSHAFAIE 2 X 10,000 6,000 4,000
ONSZ4tl BHEQIE WS M= X3 10,000
A NFUHI 8,000 8,000 0
307 QI2t0| M 8,000 8,000 0
04 QI2SHALAIE E = 8,000 8,000 0
o095y NI M= XA 8,000
H=2RA4E =203 64,000 64,000 0
307 QI2t0| ™ 64,000 64,000 0
04 QI2tSHALAIE E &= 64,000 64,000 0
Od= R44Y =2013 MNEXA 64,000
JYEIED H2EUF 15,000 15,000 0
307 212t01 & 15,000 15,000 0
04 QIZHSHAFAIE 2 X 15,000 15,000 0
OdYEIEI H=Ual M=l XA 15,000
d=22E8 57203 40,000 40,000 0
307 212t01 & 40,000 40,000 0
04 QIZISHALAIE 2 X 40,000 40,000 0
OX=28 703 Mz X 40,000
dENESHLUS 30,000 30,000 0
307 QI2t0| ™ 30,000 30,000 0
04 QI2SHALAIE E = 30,000 30,000 0
oZdMNSHaLU Hal XA 30,000
o B3 30,000 30,000 0
307 QI2t0| ™ 30,000 30,000 0
04 DIZHSHAFAIRE 2 X 30,000 30,000 0
O3MEYT HAZUS M=l X 30,000
8=t S U3 7,000 7,000 0
307 212t01 & 7,000 7,000 0
04 QIZHSHAFAIHE 2 X 7,000 7,000 0
ONN8Zatl =EUa MNEXA 7,000
HE) M=210ssn 572U 230,000 230,000 0




R s R SE=an);
Mo SIS
Celr AT ZMNASHT R CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 20,000
s 210,000
307 glz2tol & 230,000 230,000 0
< 20,000
s 210,000
04 QIZFHALAIH 2 = 230,000 230,000 0
OFEI ¥3210Sstw FEFU3 Mz XA 230,000
< 20,000
s 210,000
DL =50 =70 50,000 50,000 0
307 21201 A 50,000 50,000 0
04 QIZFHALAIH B = 50,000 50,000 0
Ou=sZIl =810 sds2Us HEXA 50,000
d= NZEt2=Z el 80,000 80,000 0
307 21201 A 80,000 80,000 0
04 DIZHHALALSE E X 80,000 80,000 0
Od= MZEtZZ 3 80,000
d= s+ A 160,000 160,000 0
307 glz2tol & 160,000 160,000 0
04 DI2HHALALSE E X 160,000 160,000 0
OX= Heh i AW 160,000
2 = 232 H3 6,000 6,000 0
307 glz2+ol & 6,000 6,000 0
04 QIZFHALAIH E = 6,000 6,000 0
03dd =t 23Uz 6,000
ZEES I 22U 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIE B = 5,000 5,000 0
OZdLEIFEI 22U 5,000
22 dIFAEME d2H 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
0L AIAEHH dLA 10,000
d=MENSE A3 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 QIZFHALAIH E = 20,000 20,000 0
OX=ZMEHE AU 20,000
CHEtA T AW HH MIMEMSAZU 20,000 20,000 0
307 glz2+0l & 20,000 20,000 0




R s R SE=an);
g s
Cel: ARXAAKLN R (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 20,000 20,000 0
OUSA AU M M=MEHISAUHS 20,000
d= €3 sl 160,000 160,000 0
307 glz2tol & 160,000 160,000 0
04 QIZFHALAIH B = 160,000 160,000 0
o&= &+ s 160,000
A MAZ 3 70,000 70,000 0
307 21201 A 70,000 70,000 0
04 QIZFHALAIH B & 70,000 70,000 0
O&d= st ZUa 70,000
ZEEa & =3 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
O3dEa W s 5,000
A2 2ZHE 60,000 60,000 0
307 g1zl & 60,000 60,000 0
04 QIZFHALAIH 2 = 60,000 60,000 0
od= 2% U3l 60,000
dz3AEXNSUs 95 42 H 2,000 2,000 0
307 21201 A 2,000 2,000 0
04 QIZFHALAIH B = 2,000 2,000 0
Of=AdN=EUHa 9 J2H 2,000
d= E8w E2U3 200,000 200,000 0
< 20,000
i 180,000
307 21201 A 200,000 200,000 0
< 20,000
[ia 180,000
04 DIZHHALALSE E X 200,000 200,000 0
Od= =&t =703 200,000
< 20,000
i 180,000
d=HLALS 20,000 20,000 0
307 g1zl & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
Od= MEHM= HLA Ul HEXH 20,000
A2ZIMASHNFLAH 2SI 250,000 250,000 0
< 100,000
s 150,000




FAM: HEdsh
M s
Chel: AETMASHRA
SA - ZE-B(EA) - NRAY - B S il &t o il
307 glz2tol & 250,000 250,000
< 100,000
s 150,000
02 PIZHEHAHE L 250,000 250,000
OAZRMASHIA HEHH 28 XA 250,000
< 100,000
s 150,000
MEHE 203 10,000 10,000
307 glz2+ol & 10,000 10,000
04 QIZFHALAIH B = 10,000 10,000
odzx=s ELUa HE XA 10,000
83 RAds2US 20,000 20,000
307 21201 A 20,000 20,000
04 QIZFHALAIH B = 20,000 20,000
O&= |R44Y s2U3 HEXA 20,000
d=2 S0 AUS 160,000 160,000
307 gl2tol & 160,000 160,000
04 DIZHHALALSE E X 160,000 160,000
Od=dUHS0tiCHal JHEX& 160,000
&A= Hoiel Jt+=al 30,000 30,000
307 glz2tol & 30,000 30,000
04 QIZFHALAIH E = 30,000 30,000
O&= ZOAI=CHE HEXE 30,000
d=2 NEUS 170,000 170,000
307 21201 A 170,000 170,000
04 QIZFHALAIH B = 170,000 170,000
Od= MEUa MEXL 170,000
d= HESUHS 130,000 130,000
307 21201 A 130,000 130,000
04 DIZHHALALSE E X 130,000 130,000
O&d= #HE=Us Mzl XA 130,000
dg E203 10,000 10,000
307 glz2tol & 10,000 10,000
04 DIZHHALALSE E X 10,000 10,000
0dd s720U3 MEXS 10,000
ZE XA HOIEEUE 4,000 4,000
307 glz2+ol & 4,000 4,000
04 QIZFHALAIH E = 4,000 4,000




SN HSXED
Mo SIS
R ATIAMASHIA (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O3Y ST XAD HOIEEWE MK 4,000
M= ZSFE3AEEZ O 5,000 5,000 0
307 2iz2to| A 5,000 5,000 0
04 DIZ2tSHALALS B X 5,000 5,000 0
ON= ZEFZEFAEEZD WA XN 5,000
XNHES AZXAZALS 1,000,000 0 1,000,000
J| 500,000
= 500,000
307 QI2t0| & 1,000,000 0 1,000,000
J| 500,000
= 500,000
04 CIZ2tSHALALS B X 1,000,000 0 1,000,000
OXRNYEES AEZT2AZAY X & 1,000,000
J| 500,000
= 500,000
OIENS U 200,000 0 200,000
307 2Iz2t0| & 200,000 0 200,000
04 SIZ2HSHAAISH E & 200,000 0 200,000
OfI=EMNEUE MHNEX S 200,000
M=I2IosE A 180,000 0 180,000
307 2iztol & 180,000 0 180,000
04 QIZ2tSHAFALS B = 180,000 0 180,000
OXd=ItsEd=AUS HEXA 180,000
H=2RAUFEIZ2Y 2520 60,000 0 60,000
307 QI2t0| & 60,000 0 60,000
04 CIZ2tSHALALS B X 60,000 0 60,000
OR2ZRAUEIZY 2FYH KX 60,000
S AAE &= &M S Z3 40,000 0 40,000
o= 40,000
307 212t0| & 40,000 0 40,000
o= 40,000
04 SIZ2HSHAAISH E & 40,000 0 40,000
OEZXIAIHH A= &M T3 =X & 40,000
& 40,000
d=2AAAZ 3 65,000 0 65,000
307 2iz2to| & 65,000 0 65,000
04 QIZ2tSHALAFS B X 65,000 0 65,000
OFZAAABCUS MEXHA 65,000
C2Y0/Aa03l 90,000 0 90,000
307 giztol A 90,000 0 90,000




SN HENED
g s
Celr AT ZMNASHT R CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 90,000 0 90,000
OE&dolatia HxXA 90,000
FAFANSUHE 380,000 0 380,000
307 glz2tol & 380,000 0 380,000
04 QIZFHALAIH B = 380,000 0 380,000
OFHZTAMSUHE HEXS 380,000
StMANZEIRZ S 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 QIZFHALAIH B & 10,000 0 10,000
OStMHMTEIDZHE JH= X & 10,000
HEHsE4s 380,034 396,607 A 16,573
J| 163,804
< 8,587
s 207,643
Lot e XS X =X O XA 178,780 175,392 3,388
J| 89,390
s 89,390
307 gl2tol & 178,780 175,392 3,388
J| 89,390
s 89,390
02 It S AHE L 178,780 175,392 3,388
OLBMERF XX Hi X 178,780
J| 89,390
[ia 89,390
HEAMEM SR I i XA 119,188 116,928 2,260
J| 59,594
e 59,594
307 glz2tol & 119,188 116,928 2,260
J| 59,594
s 59,594
02 QIZtE M AMHEE 119,188 116,928 2,260
ONZMMEH XX B 119,188
J| 59,594
s 59,594
ool e s XS X i XA 29,641 0 29,641
J| 14,820
[ia 14,821
307 21201 A 29,641 0 29,641
J| 14,820
[ia 14,821
02 UAFAAFEX 29,641 0 29,641
O MEX =KX B X 29,641
J| 14,820
e 14,821
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R s R SE=an);
Mo SIS
¢el Mss4aAd (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEss4d3tAY 859,123 700,720 158,403
J| 65,975
< 8,482
s 784,666
Hssu2sd 763,873 663,000 100,873
307 21201 A 763,873 663,000 100,873
02 IZtE S AHE L 763,873 663,000 100,873
oMsxUR 4 XA 763,873
FOHAZ=2 0|83 MY 4,250 0 4,250
J| 2,975
< 382
i 893
301 LEMZ 4,250 0 4,250
J| 2,975
S 382
s 893
01 MEI2EZE 406z 4,250 0 4,250
OZMHAAZ=AXO0IEHAS 4,250
J| 2,975
< 382
[ia 893
AZE2E 0IEEA ALY 90,000 36,720 53,280
J| 63,000
< 8,100
s 18,900
301 LEEAF 90,000 36,720 53,280
J| 63,000
< 8,100
[ia 18,900
01 MEI2EE 2353 90,000 36,720 53,280
OAZ=2E 0l 8A A 90,000
J| 63,000
< 8,100
s 18,900
HEdERSAEE 1,000 1,000 0
301 LEd = 1,000 1,000 0
12 J|IEHE &= 1,000 1,000 0
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